kubostat2019e p.1
| . oo
oo0ooono 1
“NOoOoOod gooooo”oooooog
000000000 2017 (e) ° /
goooooooooog
000C0O00oO0: 00oO0o0oooo
@eUUiUU00oUoooooou
0000 kubo@ees.hokudai.ac. jp 0000 binomial distribution O logit link function
0000000000 http://goo.gl/T6chi eU000000 00OODD 0000
000000000000 complicate terms in linear predictor
2019-08-05
eUO0UoOoUoooo!
gooooooo: 2019-07-18 17:28
OO0DO000 offset 00O
kubostat2017e (http://goo.gl/76c4i) 000000000 2017 () 2019-08-05 1/46 kubostat2017e (http://goo.gl/76c4i) 000000000 2017 () 2010-08-05  2/46
. oo . oo
doddddddddoooooooooooo dddoddddoddooooooo
http://goo.gl/Ufq2 The development of Llinear models
. . parameter
gooooooo GD GLRIDDD HEE MEOHE HIerarChICal BayeSIan Mode[ e;;lgagn
ooooooooooooooo
ooo F—y R0 Be more Generalized Linear Mixed
e ettt S~ Model (GLMM)
e 00:0000 1 . L
ncoporating 2 2
e 0000000 = randon sffects Generalized Linear
such as individuality Model (GLM)
® 2012-05-18 00O
Always normal MSE
L distribution?
That’s non-sense! Linear model
kubostat2017e (http 000000000 2017 () 2010-08-05  3/46 kubostat2017e (http://goo 000000000 2017 () 2010-08-05  4/46
. oo . oo
oooDooooooooooo? goooobooooboo
o 00000000 (GLM)
s bt eJOIOO?
e JU0DDOOOOODO (logistic
. eJ0OIODOO?
regression) {
eJOOIODOO?
[ J
[ J
kubostat2017e (http:/ 000000000 2017 (e) 2019-08-05 5/46 000000000 2017 (e) 2019-08-05 6/46




kubostat2019e

GLM OOOOCOOOOOOOOOOODOOOOODOO

gooogooooon
e000:0D0D0DODODO 4 s
e 00000 eg, i+ fokti ezl
ed0J0OD:0O0DODOO

kubostat2017e (http://goo.gl/76c4i) 000000000 2017 (e) 2019-08-05  7/46
e
1. “NOOOO yOOOoOOoOoo”0O0O0000n
oooooooooooo
Yi € {()7172 78}
000000000 2017 (e) 2019-08-05 9/46

I EE SRR
oooooooooooo R

datada.csv O CSV (comma separated value) format file 0OOOR O
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> d <- read.csv("datada.csv")

or

> d <- read.csv(
+ "http://hosho.ees.hokudai.ac.jp/ kubo/stat/2015/Fig/binomial/datada.csv")
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data frame d 00O 0O
> summary (d)
N y X £
Min. :8  Min. :0.00 Min. : 7.660 C:50
1st Qu.:8 1st Qu.:3.00 1st Qu.: 9.338 T:50
Median :8 Median :6.00 Median : 9.965
Mean :8 Mean :5.08 Mean 9.967
3rd Qu.:8 3rd Qu.:8.00 3rd Qu.:10.770
Max. :8 Max. :8.00 Max. :12.440
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> plot(d$x, d$y, pch = c(21, 19)[d$£f])
> legend("topleft", legend = c("c", "), pch = c(21, 19)) 2 0000000 Ooooon
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‘ > logistic <- function(z) 1 / (1 + exp(-z)) # 00000
< =01 > z <- seq(-6, 6, 0.1)
° q=0.8 > plot(z, logistic(z), type = "1")
I ,4=03 ./‘
00 ply | 8,9) X \ 2
H S\ 0\ 2
'Y L] M q‘w 1
= X g j’ 9= Trexp(12)
L] Y () o
Sameme=iTe o Semecs 2 J
0 2 4 6 8 ol ~ N
Yi 6 4 2 0 2 4
Oooooo z
000000000 2017 (e) 2019-08-05 15 /46 000000000 2017 (e) 2019-08-05 16 /46
_ D000 binomial distribution O logit link function D000 binomial distribution O logit link function
ooDooOOooOooooon...... logit link function
00000 {816} =1{0,210(A) f,=200000 4, 000000000
B)s/=000000 B,000000000
J(A) g=2000 _(B) s =0000 o logistic O O
- P - B =4 =~ —logistic(B + Boz
S 5 O T (Bt Bom)  oEstielBr + fo)
o 3
D] - o logit 00
o o logit(q) = log 1 4 _ B+ Box
—-q
S35 2 4 0 1 2 8 °
oooo z logit O logistic 0 O 0O O O logistic O logit 00 00O
000000 {8,6}00000 000000000000 q0 0<q<1 logit is the inverse function of logistic function, vice versa
gooooooo
000000000 2017 (e) 2019-08-05 17 /46 kubostat: 000000000 2017 (e) 2019-08-05 18 /46




kubostat2019e p.4

ROOOODOOOOOD —B 0 g 00000 ooboooOo0o: obOboobOoooocoooa

(A) D0DO0D0O0000f=c0 (B)DOOOODOO

© 00 @ ©
o om o -
>« o o :> < =
O
o ° ~ ]
@o O
T T T T T | T T T T T o
7 8 9 10 1 12 7 8 9 10 11 12 O
X x

> glm(cbind(y, N - y) ~ x + f, data = d, family = binomial)

goooogg a gooooo0 «
Coefficients:
(Intercept) X £T
-19.536 1.952 2.022
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RO data.frame: 00 Area, OO0 x, 000 y

> load("d2.RData")
> head(d, 8) # 00O 8 0000

Area x vy
1 0.017249 0.5 0
2 1.217732 0.3 1
3 0.208422 0.4 0
4 2.256265 0.1 0
5 0.794061 0.7 1
6 0.396763 0.1 1
7 1.428059 0.6 1
8 0.791420 0.3 1
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> plot(d$Area, d$y)
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RO ¢gimOUODOOOOOOOO gdobooobooooboooboon
> fit <- glm(y ~ x, family = poisson(link = "log"), data = d, O
offset = log(Area)) a4
> print (summary (fit)) z=0.9
9 light environment
Call: 3
glm(formula = y ~ x, family = poisson(link = "log"), data = d, ©
offset = log(Area)) L z=0.1
dark environment
..0..0 o
Coefficients: 0.0 1.0 d$AreZ: 3.0
Estimate Std. Error z value Pr(>|z])
(Intercept) 0.321 0.160 2.01 0.044 e 000 gm()D0D0ODDODOODDO
b d 1.090 0.227 4.80 1.6e-06 e NO00DDODOOODDOOOOD
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Uniform distribution (continuous) — an important “device” for HBM

parameter: min (a) and max (b)

f(x)
1 N .
b-a | }
! L
0 a b X
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Poisson distribution Binomial distribution
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the normal or Gaussian distribution — an important “device” for HBM

parameter: mean (p) and SD (s > 0)

00 (mean) p=0 Standard Deviation (SD) s

N s=1.0
1
.
v \s=15
T ' ™
' s=3.0
,
T T T 1 T T 1
-6 -4 -2 0 2 4 6
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